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PART -1 | SECTION-1 | GENERALAPTITUDE TEST | 25 Questions

Four figures marked 1, 2, 3 and 4 are given
below. Three of the given four figures are
similar in a certain manner while one figure
is not like the other three. Choose the odd
oneout.

REXIE

1 2 3 &

(A) 1
(B) 2
© 3
(D) 4

In the Venn diagram given below, the
Hexagon represents Police officers, the
Triangle represents Fathers, the Square
represents Athletes and the Circle represents
Graduates. The numbers in different
segments are the numbers of persons.

How many police officers are graduates and
fathers but are NOT athletes?

(A) 14

(B) 16

©) 19

(D) 20

Q1

Q2

1,2,33R 43 wy ¥ faftsg ar R
#a ey v 8| Ry wy ar st 4 9 &
s e ol G e € wale s
=1 81 fawm 7+

REXE

(A)
(B)
©)
(D)

B -

I Ry 1y 9 v A weqw gfew
st @t gwiar & B R &
suifar 8, @f wa it o geriar &
3R g wrn! o gutar & | fafe @
¥ weny @ferl @\ €

foree gfers sl wae ik fiar €,
cifeh da wfoarh 78 &7

(A) 14

(B) 16

<) 19

(D) 20
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Q3

Q4

Q5

P-A

Three different positions of the same dice are
shown below. Which number is on the face
opposite the face with 1?7

PR

A 3
B) 4
© s
D) 6

Prateek starts walking from his home and
goes 40 m towards the north-east. Then he
tums left and walks 30 m. After that he tums
left and walks 40 m. Then he turns left and
walks 60 m. How far and in which direction
is he from his home now?

(A) 60m, South

(B) 60m, South-east

(C) 30m, South-east

(D) 30m, South

You have come to know that one of your

cousins has not completed the compulsory

vaccination of his one-year old child. What

will be your most logical response in this

situation?

(A) You will ask the cousin to complete the
vaccination later.

(B) You will ask him to meet the doctor for
completing the vaccination on priority.

(C) Youwill insult both the parents of the
newbormn for their mistake.

(D) Youwilltell them it’s not a matter of
concem.

Q3

o

7]

:

Q4

Q5

S B U @) O Sre—arer Rerferi
92 R 12 €| e voe w | 3w 2
o fAudia Boe IR DA | 8

PPD

(A) 3
(B) 4
© 5
(D) 6

el 39 B ¥ g Y Pl 8 3R
IE-Gd B AR 40 m TP T & | SHD
91T, 98 9 ST 8 3R 30 m =ewr 2
iy a8 ad Hsan @ 3R 40 m e B
ftbe @7 &g yzan & iR 60 m T B
39 98 U o) ¥ e gx & 3w 3
o 9 faw fwm § &7

(A) 60 m, Efeyor

(B) 60m, aRyo—gd

(C) 30m, zfRrvr—yd

(D) 30 m, gf&yor

YT YT AT & b 3D U TR WiE

q AU U A @ 9= B et S

8l orrarr 8| g9 Refty % amuer wew

s @ifds Sar Far 8rm?

(A) 39 915 H TR W€ | b1 Fan
& forg @8d )

(B) g I yriffiwar W & Tam
& fore Sfeex @ e @ o &8

(C) 39 513! e & forg g Ry
& Arar—far ST @1 s BT

(D) 219 38 gang f g fiar &1 fawg
T8 B
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A Statement is followed by two assumptions
numbered | and II. You have to decide which
of the assumptions is/are implicit in the

statement.

Statement:
The festivals celebrated in India bring
happiness in peoples’ lives and also brings

additional expenditure for various needs.

Assumptions:

I.  People spend more money during
festivals.

[I. Festivalsbringjoy to peoples’ lives.

(A) Bothassumptions I and Il are implicit

(B) Only assumption I is implicit

(C) Onlyassumption Il is implicit

(D) Neither assumption I nor Il is implicit

Q6 a1 ymomal @ [ 3R 119 ifea v U

676233

&Y+ f&ar a7 8 | AU I8 9° I &
& F—aF A gruy FuF § Afga &)

HYT:

ARG # W M A «BR A @
e g @m & oiv g R
el @ forg sfaRes @d o g
2l

HIRVITY:

. ®iER & IRME AT wer 19 @l
FYd E|

[l «eR @t @ e 3 g ot )

(A) BT grom 3R 11 Ak &)

(B) daa g | A & |

(C) aa awon 11 Al ¥

(D) =1 < arem 3R 71 € aren 11
fafea &1
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Q7

P-A

A statement is followed by three courses of
action numbered 1, 11 and I11. You have to
assume everything in the statement to be true
and on the basis of the information given in
the statement, decide which of the suggested

courses of action should be followed.

Statement:
The Government has put in best efforts to
eradicate polio but still a few cases are

reported from some areas.

Courses of Action:

I.  Public should be made more aware o

about the issue so that public

participation in eradicating polio
increases.

I. Itisthe government’s responsibility
and the public has no role in eradication
of polio, hence public shall not be
involved.

ITl. Both govemmentand the public should
continue putting in their best efforts to
eradicate polio.

(A) Onlyaction I should be followed

(B) Onlyaction I1I should be followed

(C) Onlyactions!and Il should be
followed

(D) Only actions I and 111 should be
followed

Q7

UF HUF B 418 o driqrfRar & ¥ &
fomer 1, 11 afie 11 0 e far
2| st a8 A @ s wee # 4 1E
B 91 WEl & 3N e W &) g ST
® MR W ¥E Py o e guE v
Frdard ¥ | Fawr srgavn fhar e
=IRY |

HU:
PR 3 Mfert SvEE @ fog dgad=
v fay € <fea ond 4 o &f @
BB HHC A A B |

HradarE:

. SOl B 39 9N @ 9R H At
ST fohar ST enfRy, aifds diferi
IR # wdate aried @)

II. I8 SR & e & oir oifera
I A Sar B B8 e TEl
8, guferg S &t 3w e =8
BT ARy |

[ WSR3 SIar a1 DI Gifera
I D AU HalrH FArET 3 o
&A1 ARy |

(A) dad Hrare [ ST e fear
T TRy |

(B) @ac Hriar@l Il &7 raror faman
ST =Ry |

(C) daw FriAE! 1R HriaE 11 &1
3eRvl s =@y |

(D) @ad HRfarEl 1 3R SEaE 11 #1
e B s anfRe |
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Q8

Q9

Q10

Q11

P-A

If in a code language DIAMONDS is
written as EIBMPNES, how will
PLATINUM be written as in the same
language?

(A) QLTBNJVM

(B) PMAUIOUN

(C) PMAIVOUN

(D) QLBTINVM

In a code language, MEAGRE is coded
as GTICGO. How would LAVISH be
coded in the same language?

(A) JUKXCO

(B) JUKYCN

(C) JVKXCN

(D) JUKXCN

If TISSUE is coded as 93 in a code &
language, how would ROCKET be coded §
in the same language?

(A) 68

(B) 70

€ 7

D) 72

A+ B means ‘A is the daughter of B’

A —B means ‘A is the wife of B’

A x B means ‘A is the husband of B’

A +B means ‘A isthe father of B’

If V+Px R+Q =S +Ux T, then which of the
following statement isNOT correct?

(A) Risthe motherofV.

(B) U isthe brotherofR.

(C) Sisthe patenal grandfatherof V.

(D) Qisthe motherof R.

Q8

Q9

Q10

Ql1

afe fasslt ®re T # DIAMONDS @1
EIBMPNES & wyv ¥ forar omar &, o1
PLATINUM &I 311 WeT # &9 foran
SITTAT?

(A) QLTBNJVM

(B) PMAUIOUN

(C) PMAIVOUN

(D) QLBTINVM

fail @1s Y H, MEAGRE &1 GTICGO
fer@r Smar 8 | LAVISH @1 ST &8 ey
i 9 forar smgm?

(A) JUKXCO

(B) JUKYCN

(C) JVKXCN

(D) JUKXCN

afe TISSUE &1 @re wrer # 93 feran
oITeT 8, 9 ROCKET &1 SHI &g A1y #
& forar s

(A) 68

B) 70

©) 71

D) 72

A+B &1 3Rl ‘A, B a1 &
A-Ba&T aef & ‘A, B uelt &
AxB@r 3ef & ‘A, B@ ufa &
A+B T 3 & ‘A, B&T e &

fE V4+PxR+Q-S+UxT® AV 0 9
P AT U TE AL B?

(A) R,V @& #i 8)

B) U,R &1 Wi§ 2|

(C) S,V &7 TTaT &

(D) Q,R & #f &|
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Ql2

QI3

P-A

Vishwas’s father’s only son is the husband
of Kritika. Anshula is married to Vivek’s only
brother. Vishwas is the son of Anshula.
Vaibhavi is the daughter of Kritika. Raj and
Vivek are brothers. How is Raj related to
Vaibhavi?

(A) Father

(B) Grandson

(C) Paternal grandfather

(D) Maternal grandfather

Three statements are followed by three
conclusions numbered I, ITand I1I. Assuming
the statements to be true, even if they seem
to be at variance with commonly known
facts, decide which of the conclusions

logically follow(s) from the statements.

Statements:
All paintings are designs.
Alldesigns are houses.

All houses are objects.

Conclusions:

1. Alldesigns are objects.

II.  Some houses are paintings.

IIl  Some paintings are not houses.
(A) Conclusions ], Il and I follow.
(B) Conclusions1and I1 follow.
(C) Conclusions Il and 1 follow.

(D) Conclusions 1and Il follow.

Q12

543233

Q13

faeara & far @1 sderar 92 s @
ufy 81 sigen @ W e D Ay
¥ W g% 8| R sigen o ¥@r §)
and) pfaer & 48 8| 9 iR fadw
ag &1 o @1 Il /Ty ey ¥
(A) e

(B) grar

(C) ==

(D) =T

A P 3R I Haferr A frepst |
3R 1Ry 7g & | HeE) o1 v 7
gC W & ¥ AR W § ot @
o @i, g8 folg & 5 s9—m
e s @1 AgERer afee HU W
HYr &)

HU:
i o feamg= &)
il feugT = €
i TR AR |

e

I it fEags awgu &)

. $B W T &)

m. o 4T w8 £

(A) frepd I, 11 3R 111 S v &
B) fremd 13RI argemor Bea &)
(C) frepd 11 3R 1N I eRYT oot &)
(D) faepd 13w 111 argeaor e &)
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Q14

Q15

Q16

Q17

P-A

Which option will replace the question mark
(?) in the following series?
UXA,ADG, GJM, MPS, ?

(A) TVY

(B) Svv

(C) SVY

(D) Svz

Which option will replace the question mark
(?) inthe following series?

AB2, DE20,7,JK110, MN 182

(A) FG42

(B) HI72

(C) GHS6

(D) GHI5

Which number will replace the question
mark (?) in the following series?
27,28,37,62, 111, ?

(A) 164 (B) 172

(€) 192 D) 211

Which two signs and two numbers should
be interchanged to make the given equation
correct?

4 —15+6x40 +2=43

(A) +and x,4and40

(B) xand+,2and4

(C) =+ and —,40and 15

(D) +and —, 4 and 40

Ql4

Q15

Ql6

Q17

Freferfta sigen # @ wr e nwefrs
(?) &1 wfenfda sv?

UXA,ADG, GJM, MPS, ?

(A) TVY

(B) SVV

(C) SVY

(D) SVZ

fFfeiRae siar 3 @ fRwey wwfe
(?) @1 wferenfye Hvf?

AB2, DE20, 2, JK110, MN182

(A) FG42

(B) HI72

(C) GHS56

(D) GHI15

Freifeifect sjert 3 2 o < wef
() @ wftveenfie aeA?

27,28,37,62, 111, ?

(A) 164 B) 172

(C) 192 (D) 211

Frfafaa witewr @ R <) fomel aiR
fe1 <1 Wit #1 ve gEy & witremE
far ol o wirasvor W &8P

4 -15+6 x40 +2=43

(A) = 3R x, 43R40

(B) x 3R+ 230v4

(C) + 3R -, 403w 15

(D) +3R -, 43R40
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Q18

Q19

Q20

Q21

P-A

Select the correct mirror of the given word
when a vertical mirror is placed on the right
of the word.

SUBTROPICAL
@ J190ATaUYT
® JACI9O0ATaULS

© J¥II90ATauZ
® JAJI90ATaUZ

If ‘MYSTICAL® is
‘1325192093112’ in a code language, how
would ‘DUMBBELL’ be coded in the same

coded as

language?

(A) 421132251112
(B) 421132241212
(C) 421132251212
(D) 421032251212

Pointing to the photograph of a man named
Aditya, Ishita said, ‘His father’s wife’s
daughter’s only brother is the father of
Viraaj’. How is the Aditya related to Viraaj?
(A) Father

(B) Paternal grandfather

(C) Uncle

(D) Son

Which letter cluster will replace the question
mark (?) in the following series?

UZE, SWA, QTW, 72, MNO

(A) OQS (B) OQR

(©) PQS (D) OPS

L1BEDLO

10

Q18

Q19

Q21

gfe 9 fav v o & @ifed oiR
Feafer Qv ¥@) e of ure gyor ufafdy
HET TP

SUBTROPICAL
@w J190ATauUZYT
® JACI9OATaUZ

© JVI190ATauU2
® JAII9O0ATaUZ

afe MYSTICAL @1 f&sfl #e @ 4
1325192093112 & w4 ¥ fawn o &
B! Fenml § DUMBBELL &1 &9 fon
STT?

(A) 421132251112

(B) 421132241212

(C) 421132251212

(D) 421032251212

U Aifecd AP YEN @ AN B 3R
FURT &% Y far A1 Fer, 99 o
@ ueh @ 46 1 v A A @
foran 8 | anfeca &1 A @ ar ddy 27
(A) far

(B) =&l

(C) =

(D) 9=

fApedl # § EeRl @& A A G
frfeitiae siaen & wefos (7) & ™I
gR giowenfus smn?

UZE, SWA, QTW, 2, MNO

(A) 0QS
(C) PQS

(B) OQR
(D) OPS
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Q22  Which two signs and two numbers should

Q23

P-A

be interchanged to make the given equation
correct?

I5+5x6-30+3=13

(A) +and x,3and$

(B) +and+,3and 5

(C) +and —,6and 5

(D) +and —, 15and 30

You are given a question and some
statements. Identify which of the statement

is/are sufficient to answer the question.

Question: How is Vishal related to Amima?

Statement 1: Vishal is brother of Arohi, who

is the daughter of Kritika.

Statement 2: Kritika is daughter of Amar.

Statement 3: Amima is Kritika’s daughter.

(A) AllStatements 1,2 and 3 together are
necessary.

(B) Statements | and 2 are sufficient.

(C) Statements | and 3 are sufficient.

(D) Statements 1,2 and 3 together are

notsufficient.

11

LBEZZO!

Q22 F=feRaa wifiewor & e <) famsl aiw

ol

f <) st @1 ve et & wfremE
faar i @ifs wiieve v 8
IS5+5%x6 -30+3=13

(A) + 3R x,33RS5
B) + 3R+ 3aiRws
(C) + 3N -, 635

(D) +3R —, 153k 30

YD U US AR H6 Hue 2w v # |
A & D 91 BUF U FT IO S B
fore vuie 2

gy faume, s 9 v wer @
vafere 87

U 1: fFaE, ad o wE & o

Hicisr @ g &)

®U 2: Pladr, IR B T &

®U 3: A, Fler o g &)

(A) afl AT 1,2 3N 3 1F 9
AT F |

(B) @eF | 3R 2 yaia €

(C) &% 1 3R 3 vaia &

(D) T 1,2 3R 3 vd 9 yaia
B
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Q24 Select the figure that is related to the third
figure in the same way as the second figure is

Q25

P-A

related to the first one.

HOW 8| [& [

LOEOE H e
1 2 3

e H
(A) ne(B)

I B
A~

¢ H
© l] e(D)

He
S |

Group the following figures into three classes

on the basis of identical properties.

| R A

A
XX

o[ $H {3

(A) 1,4,8:2,5,7:3,69
B) 1,59:2,4,7;3,6,8
©) 1,3,8:25,6;4,79
(D) 1,49;25,7,3,6,8

Q24 w9 fm @ w99 N o R fm 9
did IU! yeR | wefta ® e yer |
guvt o veel @ walda )

Q25

HON & (& 0| ,
SBOH| Bl
1 2 3 4

& H

(A)

I &
(B)GQ

He
(D)e[l

(A) 1,4,8;2,57;3,69
(B) 1,5,9;2,4,7;3,6,8
©) 1,3,8:25,6;4,79
(D) 1,49;2,57,3,68
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Q26

Q27

Q28

Q29

Q30

P-A

PART -1| SECTION-2 | GENERALKNOWLEDGE | 50 Questions

In Uttar Pradesh, which site has been
designated as a Ramsar site?

(A) Paarvati Aranga

(B) Soor Sarovar

(C) SurhaTaal

(D) UpperGanga River

Barytes and Edalusite are found in which
district of Uttar Pradesh?

(A) Lalitpur

(B) Allahabad (Prayagraj)

(C) Sonebhadra

(D) Mau

Which of these tiger reserves is situated in
Uttar Pradesh?

(A) Sariska

(B) Amangarh

(C) JimCorbett

(D) Panna

The Buddha preached his first sermon and
laid the foundation of his Order in:

(A) Jhansi

(B) BodhGaya

(C) Kaushambi

(D) Samath

The fort of Agra was built by which of the
following Mughal Emperors?

(A) Shahjahan

(B) Akbar

(C) Aurangazeb

(D) Jahangir

768381
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Q26

Q27

Q28

Q30

T vew A, fFu e @ IR eI
@ wu A Tifv fear war 87

(A) T ey

(B) ¥ TR

(©) g& are

(D) S T TE)

4VZE (Barytes) T SSIgWISE (Edalusite)
Sowey @ o e § g o &7
(A) wferagy

(B) ZemEEg (WATTNT)

(C) H=wg

(D) 7%

f=forfaa # & el & wiveor 9 w@e9la
DI I WA, IR weow ¥ Rer 87
(A) wfRn

(B) 3T

(C) fom e

(D) =

g A _ ¥ e IEen ey o
BY, 39 7 @ SRR w@ o
(A) =i

(B) @w wam

(C) @

(D) TR

Frefefea § @ frw gra wue gamn
arrl & et @1 fomfor fsar mar ar?
(A) YESTRI
(B) 3r@aR
(C) 3T
(D) wErfiR
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Q31

Q32

Q33

Q34

Q35

P-A

Which is the largest district in terms of
population of Uttar Pradesh as per Census,
201172

(A) Allahabad (Prayagraj)

(B) Kanpur

(C) Ghaziabad

(D) Lucknow

Chalk drawings or dark red drawings by
primitive men are extensively foundin
district of Uttar Pradesh.

(A) Meerut

(B) Mirzapur

(C) Varanasi

(D) Banda

Who was the leader of the revolt of 1857 in
Kanpur?

(A) TatyaTope

(B) Kunwar Jagdish Singh

(C) Nana Saheb

(D) VazidAli Shah

Which nationalist leader wrote the book
“Poverty and Un-British Rule in India"?
(A) GV.Joshi

(B) Gopal Krishna Gokhale

(C) Dadabhai Naoroji

(D) G Subramaniya lyer

Who founded the Kesari newspaper in
18817

(A) Lal Mohan Ghosh

(B) Madan Mohan Malaviya

(C) Ananda Charlu

(D) Bal Gangadhar Tilak

1043391
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Q31

Q32

Q33

Q34

Q35

20113 STOFT & SITUR, SIS $
EY i SaR Yew &1 B9 fien
a4 991 87

(A) ScTEEE (FETRTS)

(B) YR

(C) miSrmEr

(D) eam s

wrdE qeul gann 9@ | gv Ty B
JeqET B o ¥ @ O, SaR uev
_ foe A srcfere wEr # ow o £
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Q36

Q37
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In 1904, who organised ‘Abhinav Bharat'

as a secret society of revolutionaries?
(A) V.D.Savarkar

(B) Prafulla Chaki

(C) Sachin Sanyal

(D) Rash Behari Bose

Who was the Viceroy of India during
partition of Bengal in 19057

(A) Lord Curzon

(B) Lord ElginlI

(C) Lord Minto

(D) Lord Hardinge

Which revolutionary wrote the famousarticle
entitled ‘The Philosophy of the Bomb™?
(A) Yashpal

(B) Bhagwati Charan Vohra

(C) Bhagat Singh

(D) Surya Sen

Which British Mission/Plan clearly discarded
the demand of Pakistan?

(A) Cripps Mission

(B) Wavell Plan

(C) Cabinet Mission

(D) Mountbatten Plan

Who announced that the British would grant
freedom to India by 30 June 1948?

(A) Winston Churchill

(B) Lord Mountbatten

(C) Lord Wavell

(D) ClementAtlee

1021331

15

Q36 a¥ 1904 9, fHus wifamRal & T

Q37

Q38

Q39

wify & wu A fisrg e &1 s
fan en?

(A) @8 \away

(B) WHod =l

(C) wie= wr=ma

(D) g fAgrd 4

aq 1905 %, el @ faueE @ SE,
ARG & GG D o7

(A) il B

(B) @fe gfer 1l

(C) wife fien

(D) @ifs wifdr

Preferiaa % & frw wifter TarT 5
fhatar! e T daf Tme uftg o
forar am 87

(A) 99T

(B) #rad! =X ArEvl

(C) wra e

(D) i ¥

fforfRaa # & fow fafew fem /a3
A uifda @ | @ p B R
o7

(A) foes firem

(B) At @i+

(C) dfasie g

(D) ANEded @i

faer o @ o, f& 30 S 1948 @@
fafew garT wRa &1 w@dar ygF B §
Sirgi?
(A) faes affa
(B) @ifS Argeded
(C) «ifs daa
(D) faerive Tee
SERIES-A-B




é

Q41

Q42

Q43

Q44

Q45

Which of the following are separated by a
10-degree channel?

(A) Lakshadweep and Maldives

(B) Andaman and Nicobar Islands

(C) Minicoy Island and Maldives

(D) Kavaratti and Minicoy Island

Which of the following mountain passes is
not situated in Uttarakhand?

(A) LipuLekh

(B) ShipkiLa

(C) NitiPass

(D) MulingLa

Which is the second-largest westward
flowing river of the Indian peninsula?

(A) Narmada

(B) Tapi

(C) Sabarmati

(D) Koyna

Chenchu tribe people, largely dependent on
hunting and trading jungle products, are found
n

(A) Kerala

(B) Andaman & Nicobar Island

(C) Andhra Pradesh

(D) Tripura

Marayoor Jaggery has been recently granted
a Geographical Indication (GI) registration,
Marayoor is located in the Indian state of:
(A) Kerala (B) Andhra Pradesh
(C) Uttar Pradesh (D) Maharashtra
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P-A

The first women police station in India was
opened in , Which recently
celebrated its 45th anniversary.

(A) Amritsar

(B) Poona

(C) Kozhikode

(D) Bikaner

As of December 2018, which state has the
largest reserve of copper ore?

(A) Madhya Pradesh

(B) Rajasthan

(C) Chhattisgarh

(D) Andhra Pradesh

Which of the following is land not owned by
any country?

(A) Vanuatu

(B) Antarctica

(C) Greenland

(D) Solomon Islands

Which one of the following is the second-
largestisland in Indian Ocean?

(A) Grande Terre

(B) SriLanka

(C) Zanzibar

(D) Socotra

When did the Constituent Assembly pass the
Constitution of India?

(A) 26 January 1950

(B) 26 November 1950

(C) 14 August 1947

(D) 26 November 1949
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Q51

Q52

Q53

Q54

How many members of the Rajya Sabha
retire after every second year?

(A) 1/4

(B) 12

(C) 13

(D) 1/5

Which one of the following is NOT a national
party?

(A) Communist party of India (Marxist)
(B) Nationalist Congress Party

(C) Dravida Munnetra Kazhagam

(D) Bahujan Samaj Party

Ram Nath Kovind was elected as India’s
President in 2017.

(A) 13th

®) 14th

(C) 15th

(D) 16th

Which of the following statements is TRUE?

(A) The Governor of State is appointed by
the Prime Minister and his Central
Council of Ministers

(B) The Governor of State is elected by
the Central Council of Ministers

(C) The Governor of State is appointed by
the President of India

(D) The Governor of State is elected by
the State Legislative’s members
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Q56

Q57

Q58

Q59

How much fund is allotted to Mahatma
Gandhi National Rural Employment
Guarantee Program in Union Budget, 2019-
20?

(A) 40,000 crore

(B) 45,000 crore

(C) 50,000 crore

(D) 60,000 crore

When did the Parliament of India enact the
Hindu Marriage Act?

(A) 1950

(B) 1955

(€) 1957

(D) 1961

Mahatma Gandhi advocated the
establishment of
the people could pursue the ideal of simple
livingand high thinking,

(A) ideal towns

(B) smartvillages

(C) ideal spiritual centres

(D) ideal villages

in India where

Which satellite was launched by ISRO for
intelligence information on 01 April 2019?
(A) EMISAT (B) ANISAT

(C) MICRASAT (D) ASTROSAT

Which team won the IPL trophy in the 2018
edition?

(A) Mumbai Indians

(B) Chennai Super Kings

(C) SunRisers Hyderabad

(D) Rajasthan Royals
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Q61

Q62

Q63

Q64

P-A

India become World’s elite space
power which can successfully destroy a live
satellite in the Low Earth Orbit.

(A) 2nd

(B) 3rd

(C) 4th

(D) 5th

Name the Prince of Saudi Arabia who visited
India in February 2019.

(A) Mohammed Bin-us-Saladin

(B) Mohammed Bin Saladin

(C) Mohammed Bin Salman

(D) Mohammed Sheikh Salman

Which country hosted the 18th Mid Term
Meeting of Non-Aligned Movement
(NAM)?

(A) Azerbaijan
(C) Venezuela

(B) Egypt
(D) Indonesia

Which are the most important tea producing
states of India accounting for about three-
fourth tea production?

(A) Assam and Sikkim

(B) Assamand West Bengal

(C) West Bengal and Sikkim

(D) Meghalayaand West Bengal

Which of the following states is the largest
producers of coffee in India?

(A) Kerala (B) Assam

(C) TamilNadu (D) Karataka
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Q65

Q66

Q68

Q69

Rabi crops are grown during the season of

(A) autumn
(B) winter
(C) summer
(D) monsoon

Which of the following years has been
designated as International Year of
Indigenous Languages by the United
Nations?
(A) 2017
(B) 2020
(C) 2019
(D) 2022

The earth moves around the sun in the
___orbit.

(A) horizontal

(B) vertical

(C) circular

(D) elliptical

Soil erosion and depletion are the major
threats to soil as a resource. Which of these
is NOT favourable for soil conservation?
(A) Mulching

(B) Shelterbelts

(C) Rainwash

(D) Contourploughing

The US entered the Second World War in
which year?

(A) 1939

(B) 1941

(C) 1942

(D) 1943
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Q70

Q71

Q72

Q73

P-A

Vasco da Gama, a Portuguese explorer,
discovered the searoute to Indiain
(A) 1598
(B) 1500
(C) 1498
(D) 1600

The Special Olympics World Games 2019
was inaugurated at?

(A) Toronto

(B) Abu Dhabi

(C) Singapore

(D) Seoul

Who invented the computer mouse?
(A) Douglas Engelbart

(B) Vannevar Bush

(C) Robert Smith

(D) Bertram Raphael

Which of the following is the shortcut for the
Paste command on the computer keyboard?
(A) CTRL+C
(B) CTRL+E
(C) CTRL+V
(D) CTRL+Z
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P-A

The isthemain screen area thatone
sees after he/she turns on a computer and
logs on to Windows.

(A) Menu

(B) Taskbar

(C) Mouse

(D) Desktop

The remains of a magnificent Jain Stupa have
been dug out near Kankali Tila in:

(A) Varanasi

(B) Deoria

(C) Mathura

(D) Kaushambi

925643
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Q76

Q77
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Q80

PART-1|SECTION-3 | GENERALSCIENCE | 38 Questions

During water cycle, Which part of plant is
involved in the process of evaporation?
(A) Branches

(B) Leaves

(C) Stem

(D) Roots

Which of these may lead to sodium
deficiency?

(A) Hypertension

(B) Hypotension

(C) Diarrhoea

(D) Dementia

Who discovered vaccination against
anthrax?

(A) Edward Jenner

(B) Maurice Hilleman

(C) RobertKoch

(D) Louis Pasteur

What is an aquifer?

(A) Saturated zone beneath water table
(B) Unsaturated zone beneath water table
(C) Upper surface of zone of saturation
(D) Lower surface of saturated zone

Slunitofenergy is:
(A) newton

(B) joule

(C) kilowatt

(D) horsepower
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Q82

Q83

Q84

P-A

Name the instrument used to measure
electromotive force.

(A) Polarimeter é
(B) Potometer

(C) Potentiometer

(D) Platometer

Which of the following scientists gave the
theory of relativity?

(A) J.J. Thomson

(B) Emest Rutherford

(C) NielsBohr

(D) AlbertEinstein

Name the scientific principle behind working
of optical fibres.

(A) Total internal reflection of light

(B) Total external reflection of light

(C) Total intenal refraction of light

(D) Total external refraction of light

Which of the following statements is TRUE

about gases?

(A) Gases have definite volume and definite
shape.

(B) Gases have neither definite volume nor
definite shape.

(C) Gases have definite volume but not
definite shape.

(D) Gases have definite shape but not

definite volume.
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P-A

Which of the following is a thermosetting
plastic?

(A) Polythene

(B) Bakelite

(C) PVC

(D) Polyester

Normal pH of blood is:
(A) 83
B) 9.5
(C) 74
D) 10.6

The six categories of Nutrients are-
Carbohydrates, Proteins, Fats, Vitamins and
Minerals and

(A) mik

(B) healthdrinks

(C) water

(D) health food

Which of the following diseases is caused
by protein-energy malnutrition (PEM)?
(A) Thalassaemia

(B) Kwashiorkor

(C) Fluorosis

(D) Pellagra

905643

Potato is a major source of:
(A) protein

(B) fats

(C) mineral

(D) carbohydrate
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Q90 Trans fat increases:

Q91

Q93

(A) good cholesterol
(B) sugarlevel
(C) bad cholesterol
(D) weightloss

Which among the following vitamins is also
called the sunshine vitamin since the body is
capable of synthesising it in the presence of
sunlight?

(A) VitaminK

(B) VitaminE

(C) VitaminD

(D) VitaminA

Which causative agent is responsible for
spreading anthrax in cows and buffaloes?
(A) Fungus

(B) Bacteria

(C) Virus

(D) Protozoa

__isinflammation of the thin tissue that
surrounds the brain and spinal cord.

(A) Scleroderma

(B) Meningitis

(C) Hepatitis

(D) Arthritis
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Q94

Q95

Q96

Q97

P-A

Which one of the following is NOT a Q9%
biodegradable meterial?

(A) Cotton

(B) Animal bones

(C) Aluminum foil

(D) Wood

Indiaisthe largest producer of cement Q95
in the world.

(A) first

(B) second

(C) thid

(D) fourth

Laughing gas is the compound of: Q96
(A) Hydrogen
(B) Helium
(C) Nitrogen
(D) Neon

870643

Some animals give birth to young once while Q97
some animals lay eggs which later develop

into young ones. The animals which give birth

to young ones are called:

(A) Viviparousanimals

(B) Oviparous animals

(C) Prokaryotes animals

(D) Eukaryotes animals

28

frafafea § & o= W aERasaa
(Srafy=iraveia) el & &2

(A) FUTE

(B) Wi @ st

(C) Teghifas wigd
(D) &S

e &1 Iqed F H 9Ra & R ¥
B T W B?

(A) vge

(B) T\

(C) e

(D) e

aifer v Fafofea & @ fFaer @
s 87

(A) BEEISH

B) &iferaw

(C) LI

(D) =

§B MR T P TH ad & IR 7Y
31 <0 & oY 71a ¥ A @ WU A o €,
T @ WU A W oF dTl WHas] @1
5 am ¥ S wrer 87

(A) TRIGW (AR SR

(B) 3fewi (3ffavww) SiraR

(C) UFbed (MHdeE) SHaR

(D) gafaa (FHRare) e

SERIES-A-B




-

Q98 Asia’sfirst upperarm double hand transplant

Q99

was conducted in September 2017 in a
hospital in the state of :-

(A) Maharashtra

(B) Karnataka

(C) Gujarat

(D) Kerala

Which of the following is a good source of
vitamin C?

(A) Broccoli

(B) Sugar

(C) Egg

(D) Wheat

Q100 Pellagra occurs due to deficiency of :-

(A) VitaminB3
(B) VitaminBl
(C) Vitamin B2
(D) VitaminB6

Q101 Name the instrument used for measuring

P-A

electrical resistance:-
(A) Ohmmeter

(B) Voltmeter

(C) Ammeter

(D) Galvanometer
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Q98

Q99

facax 2017 4, vf¥ran &1 ugarm &= &9
IrEl &1 Wha g Frefafaa e
oY B AT W oamfora fear wan
qr?

(A) WERIS:

(B) TeH

(C) ormT
(D) e

famfafaa % @ o fAefm ¢ @1 W
BT WK 27

(A) B9 el

(B) @Y

(C) 3=

(D) 7§

Q100 Frafafias # & fraall &0 & aRT

Yerrar @Y A Bl 22
(A) fazifd= B3
(B) faeifis Bl
(C) faeif B2
(D) faerfd= B6

Q101 fagga uftRer @& 7w & forg Freferfaa

fra SusRer @1 gwiAe far o 87
(A) 3ieR
B) dreediey
(©) yfrex
(D) FFriex
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Q102 What is the SI Unit of volume?
(A) Cubic centimeter
(B) Cubic meter
(C) Cubicdecimeter

(D) Cubicinch %

Q103 Quicksilver is another name of:-
(A) Silver
(B) Iron
(C) Mercury
(D) Manganese

Q104 __ isalsoknown as Niacin.
(A) VitaminB3
(B) VitaminB5
(C) VitaminB7
(D) VitaminB9

Q105 Which of the following is a *Conditional’
amino acid?
(A) Glutamic
(B) Aspartic
(C) Alanine
(D) Arginine

Q106 Thestage of the embryo in which all the body
parts can be identified is called a:
(A) Zygote
(B) Embryo
(C) Foetus
(D) Ovum

P-A 30

Q102 T @ Sl @1 @7 87

(A) =7 Héniex
(B) =71 Hiex
(C) &7 SHrfiex

* (D) 1 g4

Q103 @Ra 9, fFre=ifafag & 9 feaar &

I B?
(A) =idt
(B) cirer
(C) amr
(D) Hrdrw

Q104 f=ifeifaa 4 & g s & 9 &

W S ST 87
(A) feifi B3
(B) faerfis BS
(C) faeifis B7
(D) faeifd= B9

Q105 F=afefaa A & oW a1 Sfema arfF

ufrs &7

(A) Teefim
B) vanfds
(C) =
(D) anfifE

Q106 ¥ & e =Ror % RN & Wi 3 o)

Y @ o wed 87
(A) wigTie
B) uftsr
(C) wiew
(D) 3haw
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Q107 Which of the following Indian Scientists
collaborated with Norman Borlaug, which
culminated in the “Green Revolution™ in
India?

(A) SatyendraNath Bose
(B) Meghnad Saha

(C) Har Gobind Khorana
(D) M.S.Swaminathan

Q108 Which ofthe following cycles is a significant
aspect of the weather patterns on earth?
(A) Carbon cycle
(B) Watercycle
(C) Nitrogencycle
(D) Oxygencycle

Q109 Chemical disinfection of drinking water can
be done using?-
(A) Fluorine
(B) Chlorine
(C) lodine
(D) Bromine

Q110 Name the instrument used for recording
earthquakes:-
(A) Seismograph
(B) Sonograph
(C) Spectrograph
(D) Sphygmograph

P-A 31

Q107 Fr=fafa % & fsw s s A

A ARt @ |y g faar, Rt
uRRurfay w=e ¥ “gRa wifd” & wu 4
g47

(A) T A 9

(B) HuAIE Higl

(C) EXmfd G

(D) THUH. TR

B
20108 fFrefoftra % ¥ @9 W W gl W

e & Ye @1 U ey use, 87
(A) HTE T

(B) el °b

(C) rggIer ash

(D) SifafroT g

Q109 F=iferlaa # @ fweT Suarr s 99

® U @1 IEte drerE
ST HHaT 87

(A) TR

(B) e

(C) amarEH

(D) sifd

Qlloﬁqﬁﬁaﬁémﬁzﬁ.mﬁmﬁqﬂaﬁﬁ

3 fore SueveT BT g fan wirar 87
(A) Fowrams

(B) AT

(C) WEZIITH

(D) femraTs
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Q111 Which Indian Organisation has developed an

atomic clock to be used in navigation

satellites?

(A) Hindustan Aeronautics Limited (HAL)

(B) Bhabha Atomic Research Centre
(BARC)

(C) Indian Space Research Organisation
(ISRO)

(D) Defence Research and Development
Organisation (DRDO)

Q112 What is the name of supercluster of galaxies

discovered by Indian scientists?
(A) Durga

(B) Laxmi

(C) Parwati

(D) Saraswati

Q113 Condensation is one of the processes in

P-A

water cycle. Which of the followig statements

is TRUE about condensation?

(A) Vapour state is transferred to liquid
state.

(B) Vapour state is transferred to solid
state,

(C) Liquid state is transferred to solid
state,

(D) Solid state is transferred to liquid
state.

32

:

Q111 Fr=ifafas 3 & fvw Wiy v 3

e deage # swEe B9 aral

gAY Bl @ R fear &2

(A) fEgwm wrRHiRRe fafies (HAL)

(B) T URHIY] IERETT B% (BARC)

(C) Wi aicfRer s wes
(ISRO)

(D) &1 ey 3R e dreq
(DRDO)

Q112 wwcfty dsfast gawr wish 7F

TR & YURaeey &1 A Fal
87

(A) gt

(B) vl

(C) ureht

(D) wRw

Q113 e Wt 9 @ Withamii 8§ ¥ & 2|

o & 9r F PreferRad 4 9§ @59 W

YT A 87

(A) arsT AR P TR Jawen § ager
G

(B) q1s7 3faveyl B o1 e  qaer
ST B

(C) TRl e &1 o Jawer ¥ 95
i

(D) ST AT B TR AT § g
iG]
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PART-1|SECTION-3 | ARITHMETIC | 37 Questions
Q114 Jar, #r ol e el & & w9 6

Q114 Reeta, Meena and Sita can complete a work

in 6 days,9 days and 12 days respectively.
They worked together and completed the
task, earning of ¥ 26,000, Then the share %
of Reeta will be:

(A) T 15,000 (B) T 13,500

(C) % 12,000 D) % 9,000

Q115 A racing car covered a distance of 600 km

at a constant speed. If its speed was
50 kmvh more, it would have taken 2 hours
less to cover the distance. Then, the speed
of racing car was:

(A) 75km/h (B) 125km/h

(C) 100km/h (D) 150km/h

Q116 In A ABC, Pand Q are points on AB and

AC respectively, such that PQ || BC.
IfAP=x, AC=x+9,AB=x+ 13 and
AQ=x-2thenxis:

(A) 11 B 10

(C) 15 D) 13

Q117 P,Q,Rand S are concyclic. PR bisects QS.

IfPQ=9cm,QR=8 cm,and RS=6cm,
thenPS=?

(A) 10cm (B) 7cm

(C) 15¢m (D) 12em

Q118 Solvethe following.

l-cose sin a
+

sin @ I—cosa=?
(A) 2seca (B) 2coseca
(C) 2cosax D) 2sina

Q119 Pintu sold an article at a loss of 10%. If he

P-A

had sold it at T 180 more, he would have
made a profit of 2%. The cost price of the
acticleis:

(A) T 1,800 (B) 1,350

(C) T 1,500 D) T 1,650
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QI15

Q116

QI17

Q118

Q119

fam, 9fR= 3l 12 e ¥ w1 o waa & |
SEN UF WY oY fFa ok ww g
o, aiv T 26,000 arfSta fas | @ e
&1 fewar fasasr g

(A) T 15,000 (B) T 13,500

(C) 212,000 (D) % 9,000

S IR FR A vH FHE G § 600 km
& g0 a9 | Afe w7 50 knvh
I 2, o 39 oW i gf @ 7w
& | 2 U8 B o | |, T IR B
nfey fsat ofr?

(A) 75km/h (B) 125km/h

(C) 100km/h (D) 150km/h

AABC#, P3lR Q 93 AB3IR ACD
men fig €, alY PQ | BC 8) af
AP=x, AC=x+9, AB=x+ 132 alR
AQ=x-28 @ x & 7F T B

A) 11 B) 10
©) 15 D) 13
P, Q, R 3R S Usgwig & PR, QS &I

gfawifora @var 21 afd PQ=9cm QR =
8 cm, 3R RS =6 cm 2, a1 PS fy®
ER BAIT?

(A) 10cm (B) 7em
(C) 15cm (D) 12em
fafafaa @ ga a3

1—cos & sin &
: ¥ =9
sin & l-cosa °

(A) 2seca (B) 2coseca
(C) 2cosx (D) 2sina
fig 3 10% o1t ® & axg a4 o}

TE9 39 T 180 e ux 4= B, o W
2% 1 A BT | o 9% B Y Il
foperr 87

(A) T 1,800 (B) 21,350

(C) T 1,500 (D) % 1,650
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Q120 Withthe money Kanak has, she can purchase
either 30 pens or 50 pencils. She spends only
80% of her money and buys 10 pens. With
the remaining money, a maximum of how
many pencils can she buy?
(A) 26 (B) 25
(C) 24 D) 23
Q121 ¥3,000 is lent in two parts, x (the larger part)
and y (the smaller part). y is lent at 10% per
annum and x is lent at 20% per annum. [fthe
total interest in a year isT 500, then y is equal
to:
(A) T 1,000
(C) T900

(B) T 800
(D) T 1,200

Q122 Analuminum cable with a diameter of 6 cm
and length 32 cm is melted to form a sphere.
The radius of the sphere will be:
(A) 8cm (B) 6em

(C) 12¢cm (D) 10cm

Q123 In a perfect square, if the unit’s digit is 4,
then the unit’s digit in its square root is:
(A) 8
B) 2
(C) 20r8
(D) neither2nor8

Q124 Fornumbers @—b and a+ b astwin primes,

91

aand b are: ;’z}
(A) co-primes (B) twinprime
(C) composite (D) even
Q125 0.5 x 0.002=2?
(A) 0.001 B) 0.01
(©) 0.10 D) 1
P-A 34

Q120 &% U= 4=afd |§ |, 30 99 A1 50
el @i Al & | 98 31UAT 80% ST
Y Hw & 3R 10 99 wdedl 21 9

IR & e 98 siftrman fee dft
g wad 27

(A) 26 (B) 25

(C) 24 (D) 23

3,000 & TP ©EANRT B a1 W, x
(@1 W) 3R p (BT Am) § SuR R
ST ® | y (BTeT 97 &7 10% ufey 7§ aiie
x (@91 91FT) B 20% i ad @ v 9
Sy faar wrar 8| aft o@ 94 o e T
500 =1t sfofa &rem 2, o y (B1eT A7)
e avreaw 87
(A) 1,000
(C) 900

Q121

(B) Z 800
(D) T 1,200

Q122 6 cm ™ 3X 32 cm walg Al UH
TR @ AR @ US Ml & BN
g9 @ for e smar &) 99
e @ B feah 8rfi?

(A) 8cm (B) 6¢cm
(C) 12em (D) 10em

Q123 wa yvf avf #, ufe g@g v i 4 2 &,
UG T W T @1 i o
gIT?

(A) 8

(B) 2

(C) 2ur8

D) Far23R T A8

Q124 T1 3Ms g we@mRil a-b R a+b
$ Y, a i by &2
(A) GE—3ST (B) T 3T
(C) wroa G (D) |9 He

Q125 0.5 x 0.002="?
(A) 0.001
(C) 0.10

B) 0.01
(D) 1
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Q126 If x = NG and_v=7;Tl.thcn the
value of x* +y*=7
(A) 24 B) 28
(C) 30 (D) 34

Q127 If 10% of x =25%of y, thenx : y is

A) 2:5

B) '5:2
€ 2:3 <G

(D) 3:

Q128 4 men and 6 women can complete a task in
8 days, while 3 men and 7 women can
complete it in 10 days. In how many days
will 10 women complete it?

(A) 18days (B) 25days
(C) 30days (D) 40days

Q129 Ifthe radius of a sphere A is half of the radius
of another sphere B, then the ratio of
volumesof Aand B is:

(A) 8:1 B) 1:8
©) 1:3 (D) 3:1

Q130 On what dates on April 2001 did Tuesday
fall?
(A) 3% 10%, 17% 24"
(B) 4%, 11%, 18® 25%
(C) 2, 9 16%, 2349, 30®
(D) 1% 3% 15%,22%, 398

Q131 A ramp for unloading a moving truck has an
angle of elevation of 30°, If the top the ramp
is 0.8 m above the ground level, then find
the length of the ramp is:

(A) 0.6m B) 1.2m
(C) 1.6m (D) 2m

Q132 The smallest value of a collection of data is
11 and the range is 47. What is the largest
value of the collection of data?

(A) 36 (B) 47
(C) 57 (D) 58

35

V2 +1 N2 -1
Ql?ﬁﬂﬁq’x—ﬁ_‘ Gﬁ?y-m,?ﬁﬁ
2 +y? @A R
(A) 24 (B) 28
(€) 30 (D) 34
Q127 af x T 10%=yHT25% B AT x:y
Gl
(A) 2:5 ®B) 5:2
(©) 2:3 D) 3:2

Q128 4 4oy 3R 6 #feey el & 31 8 few
H Q@ P Wdd B, e 3 gey 3R 7
Afgeny S HE B 10 faE F @
wahd &1 10 #fEa] S &m B o

foA % gur Hir?
(A) 18f3+ (B) 25fR=
(C) 30fe= (D) 40 fa=

Q129 afe fel el A @t o, g e Bat
f3roar &) el 8, O A S U HT B
T & AT YT AT BTP
(A) 8:1 B) 1:8
(©) 1:3 D) 3:1

Q130 ariter 2001 % = ardil & Hrear o
(A) 3%, 10%, 17%, 24®
(B) 4% 11%, |8% 25"
(C) 2, 9™ 16%, 23", 30*
(D) 1%, 84, 15% 220 20t

Q131 f&<h To g g@ DI Wiell HA & forg
g 31 9=IE Hor 30° ) afe ¥g @
i, oiF B "R W 0.8mFW & ar ¥

o olarg fad 27

(A) 0.6m B) I12m

©) 1.6m D) 2m
%132 e HuEy B waW Bier A6 112 3R
€ 472 T D HUBY H AW 9T A

faere 87

(A) 36 (B) 47

(©) 57 (D) 58
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Q133 The value of

0.1%0.1+0.01x0.01-0.1+10 __
0.1 :
(B) 0.001
D) 10

(A) 0.01
©) 1

Q134 What is the simple interest on T 10,000 at
the rate of 6% per annum for 2 years?
(A) T 1,000 (B) T 1,150
(C) T 1,200 (D) T 1,220

Q135 January 1, 2009 was Thursday. What day
of the week falls on January 1,2010?7
(A) Wednesday (B) Thursday
(C) Friday (D) Saturday

Q136 Ifthe cost price is 80% of the selling price,
then what is the profit percent?
(A) 20% (B) 25%
(C) 28% (D) 30%

Q137 What is the amount of ¥ 6,000 at the rate of
5% per annum for 2 years, when interest is
compounded annually?

(A) %6615 (B) T 6655
(C) 6775 (D) T 6900

Q138 Acarmoves at the speed of 90 km/hr. What
is the speed of the car in meters per second?
(A) 15m/sec (B) 25 m/sec
(©) 30m/sec (D) 45 m/sec

Q139 A clock is started at noon. By 10 minutes
part 8, the hour hand has turned through
(A) 145°
(C) 225°

B) 150°
(D) 245°

Q140 Foracollectionof 10 items, ¥ x=155, then
the arithmetic mean is '
(A) 10 (B) 10.5
(C) 15 (D) 155

P-A

0.1%x0.14+0.01x0.01-0.1+10
0.1

Q133
?

(-A) 0.01
© 1

(B) 0.001
(D) 10

Q134 2 10,000 ux 2 a¥ & farw, 6% aiffe g%
¥, AR SIS 997 9T |
(A) 21,000 (B) T 1,150
(C) 71,200 (D) 21,220

Q135 1 T=ad 2009 & YHAR oT| | F=aL,
2010 I A& B DIA—T a7 Tgar 87

(A) TR (B) THAR
(©) grar (D) wfar

Q136 ufe faelt a%g 1 @ 7ou, gwa famt
W BT 80% B < @ uftre @ 87
(A) 20% B) 25%
(C) 28% (D) 30%

QI372 Wi & fow 5% vy af @ s &
% 6,000 A R @ Bf, wg awafE

aa affs $9 9§ fear &2
(A) 26615 (B) T 6655
(C) 26775 (D) T 6900

Q138 UH HR 90 km/hr @1 Y | FaTeh 2|
" Hedt ¥, uly Aos ar o fy Far &2
(A) 15m/sec (B) 25m/sec
(C) 30m/sec (D) 45 m/sec

a
2

Q139 T& Sl P QSR D HHAY AT I
21 8 gwax 10 e w w2 & w8
By |

(A) 145°

(C) 225°

(B) 150°
(D) 245°

Q140 10 %3] & s |8 & fog, Yx=155

ar iRy wrg gl
(A) 10 (B) 10.5
(C) 15 (D) 155
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Q141 IfGCD and LCM of numbers aand bis 3 Q141 3% a 3R b &1 #eww G Hoid 3

equal. Then @ and b must be:
(A) co-prime

(B) prime

(C) equal

(D) composite

Q142 The ratio of the present ages of Prasad and

Bijuis 5: 4. Then, 5 years ago, which of the
following cannot be the ratio of their ages?
(A) 3:2 B) 4:3
©) 8:7 D) 9:7

Q143 27 men can complete the work of digging

of a well in 20 days working 5-hours/day.
The work starts. After 4 days, 12 men leave.
To complete the digging with its schedule,
the remaining men needs to work, hours/day
[

(A) 8
©) 9

®) 6
(D) 10

Q144 The greatest angle ina polygon is 110°. Also

rests of all angles are distinct in measure.
Then the maximum number of sides the
polygon can have, is:
(A) 5
(©) 7

(B) 4
D) 6

Q145 The HCF of two numbers A and B is 128

P-A

and the LCM of A and B is 256. Then
Ax Bis:

(A) 36868

(B) 38028

(C) 32786

(D) 32768

37

TETH AATTEdS ava] § | @ o 3R b TE
g

(A) TB—3TY

(B) 3mTa

(C) &y

(D) #rs4

Q142 ywre 3R 4ig] @ aeHE WY & I

5:4% @ 5o uga, F=fafea 4 9
D WSB! A BT I AL €
HeEar 87
(A) 3:2
(C) 8:7

B) 4:3
D) 9:7

Q143 27 yoy yfafes 5 6 &M @@ 20 Rt 4

UF HU D Gas B A [ IR G
&1 o1 e g 71 4 7 @, 12 9oy
arl Big 2 8| Faa w9 % gEE
F B QR A B oy, 9 goNl B

gfafes fhaa 62 &Rl v &1 Inavaaar
gl

(A) 8 (B) 6

(C) 9 (D) 10

Q144 TP TEH T a9 a1 D17 110° 8 | 99

i Dol $ " o - & ar

TS ) o 2 aifdrae W e
B [ &

(A) 5 (B) 4

©) 7 D) 6

Q145 B H@Rif AR B &1 WewH waTad®

(HCF) 128 8 3R A 3R B &1 g™
gaaaed (LCM) 256 & | dF A x B @1 914
T B?
(A) 36868
(B) 38028
(C) 32786
(D) 32768
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Q146 Letnbe a natural number. When n’is

divided by 9, we get the remainder «.Then:

(A) aisaperfectcube.

(B) aisa perfect square.

(C) aisbotha perfect cube and a perfect
square.

(D) aisneither a perfect cube, nor a perfect
square,

Q147 Two circles that touch each other externally
have atotal area of 490 7 cm® The distance
between their centres is 28 cm. Then the
difference of their radii is:

(A) 7em (B) l4cm
(C) 21cm (D) 10.5¢m

Q148 Tap Pand Qcan fillatank in 10 minutes and
15 minutes respectively. Iftap Q is opened
3 minutes after tap P is opened, then the time
taken to fill the tank, will be:
(A) 7m 12sec (B) 6m 12 sec
(C) 9m 12 sec (D) 8m 12sec

Q149 The ratio of the ages of Preeti and Jyoti 7
years ago was 7 : 6. Then, 6 years from now,
which of the following CANNOT be the

ratio of their ages?
(A) 15:14 (B) 13:11
(C) 16:15 (D) 13:12

Q150 15 women or 9 men can complete a work in
24 days. Then IS women and 15 men
together can complete the work in:

(A) 12days (B) 6days
(C) 15days (D) 9days

LHEYS0 .

38

Q146 7 & n T Wighas Wen &) wa

@1 9 gqanr fRenfSe far omr 8, o &9

A9 g WI<T BT &) ar

(A) a & P B |

(B) a U@ Ui a7 #|

(C) a <, & Pf b9 & 3R uw qof
a1t &)

(D) a ¥ < US gof 51 3fR 1 & o
gof qif & |

Q147 31 gea Ol 418 ¥ Ud @ @ Ba §,
BT [ HABA 490 7 e’ B | I
dal & dra B g 28 cm B | @ I
Proamii @ dra famr sfaw s?
(A) 7em (B) l4cm
(C) 21cm (D) 10.5cm

Q148 51 PR Q U& el 31 wwer: 10 fire
3R 15 e # wx v &) afe @ Py
WeH @ 3 fiFie 9 Q @1 @idr Wi &,
ar @l e g W W wreey?

(A) Tm [2sec (B) 6 m 12 sec
(C) 9mli2sec (D) 8m 12 sec

Q149 77 wgal My iR weifar A amyg @
IAURT 7: 61| @, 3@ | 6 a4 9T,
Fr=fefaa % & s W 931 Iy @1
AT el B e 87
(A) 15:14 (B) 13:11
(C) 16:15 D) 13:12

Q150 15 wfeany a1 9 gy et &l v 24
fe=t # g v Wi & | o 15 Hfgend aiw
15 g%y fiaae o @l o) fbaa =i
W QR R DA B
(A) 1218+
(€) 1587

(B) 6fa=
(D) 9=
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Q151

Q152

Q153

Q154

Q155

Q156

Q157

P-A

PART-2 | SECTION-4 | GENERAL HINDI/URDU | 25 Questions

weyuer o vreat 3 forasm anfdd?
(A) U foerg st #

(B) 3m vl #

(€) <1 foeE ot #

(D) v =g et |

Jafaae—aa e ma forar s 87
(A) @aaifadl & 7

(B) wR&R AWEREl & 7y

(C) wr grafat — = & wea

(D) UeH AR T9EH B 7l

16ETR6

99 O 9 3 B SR Bl &
(A) 3T ¥
(B) ©d ¥
(C) dreL
(D) e«

WX e s yaR @ Bl 82
(A) @
(B)
(€) =Wr
(D) tfa

frafefes d§ @59 a1 weg aoam TE 87
(A) UEf
(B) a1y
(€) wg

(D) N

fyferfaa 3§ @ a1 weg dgg 87
(A) 99

(B) e

(C) @i

(D) 3fsm

WA A W B
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Read the following Instructions carefully :

Freafafea fde) o @ @ @ -

1. Out of the four alternatives for each question, only
one circle for the correct answer is to be darkened
completely with Black Ball Point Pen on the OMR
Answer Sheet. The answer once marked is not liable
to be changed.

2. The candidates should ensure that the Answer Sheet
is not folded. Do not make any stray marks on the
Answer Sheet. Do not write your Roll No., Test
Booklet Series, Test Center Code, Signature and
Examination Date anywhere else except in the specified
space in the Answer Sheet.

3. Handle the Test Booklet and Answer Sheet with care,
as under no circumstances (except for discrepancy in
Test Booklet), another set will be provided.

4. The candidates will write the correct Test Booklet
Series as given in the Test Booklet in the Attendance
Sheet.

S. Each candidate must show on demand his / her Admit
Card to the Invigilator

6. No candidate, without special permission of the
Superintendent or Invigilator, should leave his / her
seat.

7. The candidates should not leave the Examination Hall
without handing over their Answer Sheet to the
Invigilator on duty. Cases where a candidate has not
signed on the Attendance Sheet will be deemed not to
have handed over the Answer Sheet and dealt with as
an unfair means case.

8. Use of Pencil/Electronic/Manual Calculator is
prohibited.

9. The candidates are governed by all Rules and
Regulations of the Commission with regard to their
conduct in the Examination Hall. All cases of unfair
means will be dealt with as per Rules and
Regulations of the Commission.

10. After Examination is over, candidate has to return his
Answer Sheet to invigilator, Invigilator will hand over
the Candidate’s copy to candidate, then only
candidate is allowed to leave the examination hall.
Candidate is only allowed to take Candidate’s copy of
answer sheet,

11. Candidates are not allowed to take Test Booklet with
them. They have to submit the Test Booklet to the
Invigilator after the exam.
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